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Instructions to the Candidates:
o Read the question paper very carefully.
o Start writing from 2nd page onwords, Do Not Write On The lst Page Back Side
o Question Paper is divided into Three Parts -A, B & C.
o Part-A is containing12 multiple choice questions.
o Part- B containing SIX questions out of which FOUR questions are to be answered.
o Part C containing FOUR questions out of which TWO questions are to be answered.
o Do not write anything except your Roll No. on the question paper.
o Possession of Mobile Phones or any kind of Written Material, Arguments with the

Invigilator or Discussins with Co-Student will comes under Unfair Means and will Resull in
the Cancellation of the-PaBerg.

PART A
MULTIPLE CHOICE QUESTIONS

1. How many entries will be in the truth table of a 3 input NAND gate?

(lZxt=t?]i

a)6 b)8 c)9 d) None of these

d)e
2. How many bits are required to store one Hexadecimal digit?

c)8

3. Which one has the fastest speed
a) Cache memory b) Register c) Hard disk d) Main memory

4. Which of the following memories uses one transistor and one capacitor as basic memory unit
a) SRAM b) DRAM c) Both a) & b) d) None of these

5. (170)10 is equivalent to
a) (FD)16 b) (DF)16 c) (,4.,{)16 d) (AF)16

6. The two digits hexadecimal number which has largest value is _-_ which corresponds to

a) 10

a) F8,255 decimal
c) FF, 255 decimal

b)4

b) FF, 254 decimal
d) EF,245 decimal

7. To reset a state in a circuit we use AND with a mask of
a)l b)0 c)5V d) 3.3 V

8. Which of the following is an examJrle of a bounded medium?
a) Coaxial cable b) wave guide c) fiber optic cable d) all of these
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9. refers to the physical or logical arrangement of a network.a) Topology b) Mocle of Iperation c) Outu no*
l0' A ---.--- connection provides a dedicated link between two devices.a) Primary b) multipoint c) point_to_point

I 1. Using Booiean Expression minimize the given equation:

,4#-,- Atlll {'t I tt(6, ('}
a) AB+ AC+B b) AB + BC + CA c)A+BC+CA

b)(A+B)'=['*g
d) (AB)' = A' + B

d) None of the above

d) secondary

d) None of these

12. De-Morgan's theorem states that
a) (AB)' = A' + B'
c) A' + B' = A'B'

PART B

1. What is a domain name system?
2' what is switching? Name the diff'erenr types & subtypes of switching.3. Explain ROM & its difierent types.
4' Explain all basic gares by using NAND gare & truth table.5. Convert from

a. (345.345)10=( )2
b. (0101 1.101 t)2 = ( )10
c. (246.311*=1)10
d. (883F)16 -( )10

6. Draw the schematic brock diagram of basic computer organization.

(4x7=28)

PART C

(2x15=30)

l ' what is the necessity of flowchert in computer programming? Describe the diff'erent symbolsused in drawing a flowchart?

il?f'il:'itl;:lo"T,",topologies 
with their advantages, disadvanrages & near & clean diagram.

a) Magnetic Tape,
b) Magnetic Disk,
c) Optical Disk,
d) Magneto Optical disk

4. what is computer? write its advantages & f-unctionalities of cornputer.

2.

3.
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Instructions to the Candidates:
Read the question paper very carefully.
start writing from 2"d page onwards, Do Not write on The lst page Back side
Question Paper is divided into Three parts -A, B & C.
Part-A is containing l2 multiple choice questions.
Part- B containing sIX questions out of which FouR questions are to be answered.
Part c containing FouR questions out of which rwo questions are to be answered.
Do not write anything except your Roll No. on the question paper.
Possession of Mobile Pho$es or any kind of Written Material, Arguments with the Invigilator or
9isgtrssing with Co-student with comes urra"r Unfaiitvteans and wiil Result in the Caucellation of the
Papers.

PART A
MULTIPLE CHOICE QUESTIONS

a. Formal arguments

b. Definite Arguments

3. What is the valid range of numbers
a. O to 256

(l2xl=12)

c. scanfQ d. mainQ

1. Every C Program should contain which function?
a. prints 0 b, show0

2. Arguments passed to a lunction in c language are callecl _ arguments.

b. -65536 ro +65536

4. The associativity of! operator is

a. Righr to Left

b. For Arithmetic and (b) for Relational

5. What is the 16-bit compiler arllowable range

a. -3.4e38 to 3.4e38

b. -32668 to 32667

6. The process oftranslating a source program
a. Compiler b. Translator

7. Which function is necessary to exist in each
a. void b. sum

c. Actual Arguments

d. Ideal Arguments

for int type of data?

c. Assembler

& every program?
c. main

c. -32768 to +32767

d. No specific range

c. Left to Right

d. For Relational and (b) for Arithmetic
for integer constants

c. -32767 to 32768

d. -32768 to 32767

into machine language is a function
d. None of these.

d. None of these.

8. What is the control character for "a decimal integer,,.

a. uhc b.%d c. ohi d. %p
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9' where in c the order or precedence of operators d, not exist?
a. Within conditional statements, if, else
b. Within a macro clefinition

10. Which of following is not accepted in C?
a. static a = I0; //static as
b. static int a;

c. Within while, do-while
d. None of the mentioned

c. static int func (int); llparameter as static
d. all of the mentioned

c. External

d' External and Internar are not varid terms for functions
PART B

(4x7=28)

1 I ' where in c the order of precedence of operators do not exist?
a. within conditionar statements, if, erse c. within while, do_whire
b. Within a macro definition d. None of the mentioned

12. Functions in C Language are always
a. Internal

b. Both Internal and External

1' Differentiate the operators '&&'and'&'. How can the size of a structure be determined? what is
meant by strin-e handring ribrary? what is conditional compilation?
2' write a c program to colult the number of vowels, consonants ancl speciai characters in a file ancl
replace all the occurrences of .a, to .A, 

and write it into a separate file.
3' write the various format codes in scanf0 function. Define preprocessors and its directives. How
do you pass command line arguments? Exprain with illustration.
4' The value of a macro name cannot be changed during the running of a program. Comment on it.what is data type? Explain any four data types used in c language with sultable example.
5' If a four-digit number is taken as input through the keyboard, write a c prograrn to obtain the sum
of the first and last digit of this number. Explain switch case statement with syntax.
6' write a c program to fincl the second Maximum in an array. Explain the decision making
statements in C.

(2xlS=30)
l ' what is meant by pointer arithmetic write a c program that will calculate the sum of every thirdinteger,beginningwithi=2(i.e.,calculatethesum-=2+5+g+...)forallvaluesoflthatareless

than 100. Write your C program using,
a) while statement b) Do-whire statement c) For statement

2' Summarize the rules governing the use of fopen 0 function. Describe the information that isreturned by this function. Write a program that takes input as a numeric check and writes the worclversion equivalent of the number. Foiexample the number is I 12.43 should be written as oNEHUNDRED TWELVE and 43 PAISE. (String manipulation operarions can be used)
3' Explain the syntax and purpose of fgets 0 and fputs 0 functions. write example programs roillustrate' State the rules that determine the ordei in wtrictr initial values are assigned to multi-dimensional array elements. Briefly explain the relationship between arrays and pointers. List anytwo common pointer rnistakes in c while using pointer in i programminj.
4' write down the list of'arithmetic operators in C with its precedence. write a c program to search aparticular roll no' in an array. lf that roll no. exist in an array print "number is present,,elseprint"number is absent". Write a program to determine whether 

" 
p.rron is eligible to vote.
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PART A
MULTIPLE CHOICE QUESTIONS

1. communication between HR. manager and salesman is an example of -
A. Horizontal communication c. Lateral communication
B. Diagonal communication D. vertical communication

(12x1=12)

2. Communication problems otherwise
A. Enquire.
B. Encoding.

3. Communication starts with -
A.Encoding
B. Channel

known as -
C. Barriers.
D. Decoding.

C. Sender
D. Feedback

4. Down ward cornmunication and upward communication is -
A. Vertical communicalion
B. Diagonal communication

5. Gestural communication is a
A.Non-Verbal Message.
B. Oral communication

6. Horizontal communication flows through
A. Face-to-face discussion.
B. Periodical meeting.

7. Lateral communication'is between -
A. Superior and subordinate.
B. Subordinate and superior.

C. Horizontal communication
D. None of these

C. Direct conversation.
D. Written.

C. Telephonic talk.
D. All the above.

C. Sarne cadre of personal.
D. Among all.
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\8' what step,'11*_t"ylunication process allows you to evaluate your message,s effectiveness?A' selection of the communication medium. c. Feedback sint by the rJceiver to the sender.B' Decoding of the message by the receiver. D. Encoding of trre mesrug" uy the sender.

9. A memo is an example for -
A. Internal communication.
B. Lateral communication.

10.

ll.

A. Forrnal.

A. Enclosure. B. Letter. C. Telephone.

12. A GD is highly strucrurecl because -
A. It is coordinated by a moderator
B. It measures group communication skills
C. Members have to listen to the views of others
D' The topic, time and number of participants are all deci6ed in aclvance

PART B

channel c,f communication called the grapevine.
B.Informal. C. Horizontal.

is the essential aspect of communication.

l. Discuss the various types on communication on different basis.

2. Discuss the various characteristics of communication.

3. What are the various components of communication?

4. Doscribe, in detail, the different Ba*iers to communication.,

l. Discuss the Importance of nonverbal communication.

2. What skills are judgerJ in a group discussion?

3. Differentiate between Gesture and posture.

4. Discuss the various t)/pes of nonverbar communication.

5. Describe the Functions of communication.

6. What are the Elements in process of communication?

PART C

C. External communication.
D. Written communication.

D. Vertical.

D. Feedback.

(4x7=28)

(2 xl5=30)
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Read the question paper very carefully.
Start writing from 2nd page onwords,
Question Paperis divided into Three p"Fl, B & C.
Part-A is containing 12 multiple choice questions.
Part' B containing SIX questions out of which FouR questions are ro be answered.Part c containing FouR questions out of which rwo questions are to be answered.Do not write anything except your Roll No. on the question paper.
Possession of Mobile phones or any kt"d rf W4dqn:N,l;d;;i; or

ffiwilrcomesrno

MULTIPLE CHOICE

1. let S be the set of all
(a) Reflexive and

2. (n+f)1= 2550x nl
(a) 45

3. If there are n points then
. . n(n-t\
1al -i_

If n is natural number then

(a) n(n+1)
2

If the function t: R-r R and
(a) One-one

PART A
QUESTTONS

lines in a plane and let R={(lr,lz):1, 1 12 } istransitive (b) Symmetric (c) Equivalence

(b) 4e

total no of lines be

(b)ry

(l2xl=12)

(d) None of these

(d) sl

(d) None of these

(d) None of these

(c) 50

4.

5.

7.

8.

L2 + zz + g2 .........n2

G)[ler)]'z

f(x) =[xl is

(c) Neither one-one nor onto

6. Suppose that F is defined recursively by f (0) =3 and
(a) e (b)2t

25= 4(mod7) =l
(a)3 $)4

The statem"ni p., q is true if
(a) P is false and q is rrue
(c) P is false and q is false

(b) Onto
(d) None of these

f (n+ 1) =2f (n) +3 then f (3) =r
(c) a5 (d) None of these

(c) I (d) None of these

(b) P is false and q is true (
(d) None of these

is equal to

(c) n(n+1)(zn+t)
6

/ ^\ n(n-t)(n-z)
\L.' ------:-
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9. If n(A) -p and n(B)=q rhen total no of relation i, giu.n Uy
(a) Pxq (b) zPxq @) Zoxa _ z

10. Minimum Number of the edges in a connected graph with n vertices
(a) n-l @) n+l (c) n

(d) None of these

(d) None of these

11. The set [0, 1] is
(a) Uncountable

12. An inverse of 7 modulo 26 is
a)3

(b) Countable (c) Enumerable (d) None of these

(b) ls (c) t2

PART B

(d) None of these

ANSWER ANY FOUR OUT OF SIX (4x7=28)

I . Let S be the set of all points in a plane and let R be the relation in S defined by R= [(A,B):d(A,B)(
Zunits \, where d(A,B) is the clistance between the points A ancl B. show that R is reflexive and

symmetric but not transitive.

2. Prove that Ax (Bn C;=4y B n A x C.

3 Let f: R -+ R be defined by f(x) =2x-3.then prove that f is one-one and onto, hence find inversb of
function f.

4. Define converse, inverse ancl contrapositive of conditional statemen t p- q with truth table.

5. Express the greatest common divisor of the integers 101 and 203 as linear combination

6.Acanhitatarget3timesin5shots,Bcan2timesin5shotsandC3timesin4shots.Whatisthe

Probability that two shots hit.

PART C
ANSWER ANY TWO OUT OF FOUR (2x15=30)

L State and prove that de Morgan's theorem in general form?

2. Use mathematical induction to show that show that L3 + 23 + 33 ... ... ...n3 = {"t":rl}'?ror all nE N.t
3. L,et f: X+ Y be amapping and let A, B cy. then

Proverhar(i) f-'(1'nB)=f-t(A)n f-r@ (ii) /-1(Au B)=f-1(A)u f*l@).
4.BagAcontains2whiteand3redballsandabagBcontains4whiteand5redballs.oneballisdrawn

at random from one of the bag and it is found to be red. Fjncl the probability that it was drawn fiom bag

B.
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